CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2

Holiday Inn, North Street and Farlow Avenue Water Main Reconstruction W07-1631 / CIP NO. 50465

December 15, 2008 ORIGINAL CONTRACT AMOUNT: \$2,263,193.00

CONTRACTOR: R.C.S. Construction

PW123008-17

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$114,000.00	\$114,000.00	1.00	\$114,000.00	\$0.00
2	CLEARING & GRUBBING, 6" +TREE	EA	1.00	\$547.00	\$547.00	1.00	\$547.00	\$0.00
3	CLEARING & GRUBBING	LS	1.00	\$1,700.00	\$1,700.00	1.00	\$1,700.00	\$0.00
4	1" COPPER SERVICE	LF	646.00	\$21.00	\$13,566.00	646.00	\$13,566.00	\$0.00
5	4" PVC WATER SERVICE	LF	158.00	\$21.00	\$3,318.00	158.00	\$3,318.00	\$0.00
6	6" PVC WATER MAIN	LF	438.00	\$24.00	\$10,512.00	438.00	\$10,512.00	\$0.00
7	8" PVC WATER MAIN	LF	3,026.00	\$30.00	\$90,780.00	3,026.00	\$90,780.00	\$0.00
8	12" PVC WATER MAIN	L.F	923.00	\$45.00	\$41,535.00	923.00	\$41,535.00	\$0.00
9	16" PVC WATER MAIN	LF	3,928.00	\$67.00	\$263,176.00	3,928.00	\$263,176.00	\$0.00
10	24" STEEL WATER MAIN	LF	1,214.00	\$237.00	\$287,718.00	1,214.00	\$287,718.00	\$0.00
11	1" TAPPING SADDLE	EA	65.00	\$142.00	\$9,230.00	65.00	\$9,230.00	\$0.00
12	1" CURB STOP & BOX	EA	5.00	\$257.00	\$1,285.00	5.00	\$1,285.00	\$0.00
13	8" X 4" REDUCER	EA	5.00	\$310.00	\$1,550.00	5.00	\$1,550.00	\$0.00
14	8" X 6" REDUCER	EA	5.00	\$323.00	\$1,615.00	5.00	\$1,615.00	\$0.00
15	16" X 12" REDUCER	EA	1.00	\$914.00	\$914.00	1.00	\$914.00	\$0.00
16	24"X16" STEEL REDUCER	EA	2.00	\$4,450.00	\$8,900.00	2.00	\$8,900.00	\$0.00
17	6" MJ PLUG	EA	2.00	\$141.00	\$282.00	2.00	\$282.00	\$0.00
18	8" MJ PLUG	EA	1.00	\$157.00	\$157.00	1.00	\$157.00	\$0.00
19	16" MJ PLUG	EA	0.00	\$451.00	\$0.00	0.00	\$0.00	\$0.00
20	TEMPORARY 12" PVC WATER MAIN	LS	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
21	CONNECT TO EXISTING 24" STEEL WATER MAIN	1.00	1.00	\$5,700.00	\$5,700.00	1.00	\$5,700.00	\$0.00
22	6" X 6" X 6" TEE	EA	1.00	\$384.00	\$384.00	1.00	\$384.00	\$0.00
23	8" X 8" X 6" TEE	EA	8.00	\$491.00	\$3,928.00	8.00	\$3,928.00	\$0.00
24	8" X 8" X 8" TEE	EA	4.00	\$520.00	\$2,080.00	4.00	\$2,080.00	\$0.00
25	12" X 12" X 4" TEE	EA	1.00	\$744.00	\$744.00	1.00	\$744.00	\$0.00
26	12" X 12" X 6" TEE	EA	4.00	\$765.00	\$3,060.00	4.00	\$3,060.00	\$0.00
27	12" X 12" X 8" TEE	EA	2.00	\$807.00	\$1,614.00	2.00	\$1,614.00	\$0.00
28	16" X 16" X 6" TEE	EA	3.00	\$1,500.00	\$4,500.00	3.00	\$4,500.00	\$0.00
29	16" X 16" X 8" TEE	EA	2.00	\$1,600.00	\$3,200.00	2.00	\$3,200.00	\$0.00
30	16" X 16" X 16" TEE	EA	1.00	\$1,940.00	\$1,940.00	1.00	\$1,940.00	\$0.00
31	24" X 24" X 24" STEEL TEE	EA	1.00	\$6,200.00	\$6,200.00	1.00	\$6,200.00	\$0.00
32	8" X 8" TAPPING SLEEVE W/VALVE AND BOX	EA	1.00	\$2,400.00	\$2,400.00	1.00	\$2,400.00	\$0.00
33	16" X 8" TAPPING SLEEVE W/VALVE AND BOX	EA	1.00	\$3,130.00	\$3,130.00	1.00	\$3,130.00	\$0.00
34	24" X 12" TAPPING SLEEVE W/VALVE AND BOX	EA	1.00	\$6,100.00	\$6,100.00	1.00	\$6,100.00	\$0.00
35	20" X 16" TAPPING SLEEVE W/VALVE AND BOX	EA	1.00	\$13,000.00	\$13,000.00	1.00	\$13,000.00	\$0.00
36	4" 45 DEGREE BEND	EA	9.00	\$186.00	\$1,674.00	9.00	\$1,674.00	\$0.00
37	6" 45 DEGREE BEND	EA	12.00	\$228.00	\$2,736.00	12.00	\$2,736.00	\$0.00
38	6" 90 DEGREE BEND	EA	1.00	\$239.00	\$239.00	1.00	\$239.00	\$0.00

Holiday Inn, North Street and Farlow Avenue Water Main Reconstruction

Project No. W07-1631 / CIP No. 50465

LINE			CURRENT CONTRACT	UNIT	EXTENDED	ADJUSTED	ADJUSTED	:
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	NET CHANGE
	8" 11.25 DEGREE BEND	EA	3.00	\$328.00	\$984.00	3.00	\$984.00	\$0.00
40	8" 22.5 DEGREE BEND	EA	4.00	\$333.00	\$1,332.00	4.00	\$1,332.00	\$0.00
41	8" 45 DEGREE BEND	EA	15.00	\$332.00	\$4,980.00	15.00	\$4,980.00	\$0.00
42	8" 90 DEGREE BEND	EA	2.00	\$350.00	\$700.00	2.00	\$700.00	\$0.00
43	12" 11.25 DEGREE BEND	EA	1.00	\$554.00	\$554.00	1.00	\$554.00	\$0.00
44	12" 45 DEGREE BEND	EA	4.00	\$560.00	\$2,240.00	4.00	\$2,240.00	\$0.00
45	16" 11.25 DEGREE BEND	EA	2.00	\$1,150.00	\$2,300.00	2.00	\$2,300.00	\$0.00
46	16" 22.5 DEGREE BEND	EA	4.00	\$1,150.00	\$4,600.00	4.00	\$4,600.00	\$0.00
47	16" 45 DEGREE BEND	EA	2.00	\$1,145.00	\$2,290.00	2.00	\$2,290.00	\$0.00
48	24" 11.25 DEGREE STEEL BEND	EA	2.00	\$2,760.00	\$5,520.00	2.00	\$5,520.00	\$0.00
49	24" 22.5 DEGREE STEEL BEND	EA	3.00	\$2,760.00	\$8,280.00	3.00	\$8,280.00	\$0.00
50	24" 45 DEGREE STEEL BEND	EA	5.00	\$4,100.00	\$20,500.00	5.00	\$20,500.00	\$0.00
51	8" X 8" CROSS	EA	2.00	\$675.00	\$1,350.00	2.00	\$1,350.00	\$0.00
52	4" GATE VALVE W/BOX	EA	1.00	\$1,840.00	\$1,840.00	1.00	\$1,840.00	\$0.00
53	6" GATE VALVE W/ BOX	EA	3.00	\$3,000.00	\$9,000.00	3.00	\$9,000.00	\$0.00
54	8" GATE VALVE W/ BOX	EA	25.00	\$1,864.00	\$46,600.00	25.00	\$46,600.00	\$0.00
55	12" GATE VALVE W/BOX	EA	4.00	\$2,650.00	\$10,600.00	4.00	\$10,600.00	\$0.00
56	16" GATE VALVE & BOX	EA	9.00	\$6,760.00	\$60,840.00	9.00	\$60,840.00	\$0.00
57	24" BUTTERFLY VALVE & BOX	EA	2.00	\$12,400.00	\$24,800.00	2.00	\$24,800.00	\$0.00
58	AIR RELEASE VALVE W/60" MANHOLE AND COVER	EA	2.00	\$8,500.00	\$17,000.00	2.00	\$17,000.00	\$0.00
59	FIRE HYDRANT W/AUX VALVE, BOX & LEAD	EA	12.00	\$3,500.00	\$42,000.00	12.00	\$42,000.00	\$0.00
60	REMOVE & SALVAGE FIRE HYDRANT & AUX VALVE	EA	5.00	\$206.00	\$1,030.00	5.00	\$1,030.00	\$0.00
61	CONNECT TO EXISTING WATER MAIN	EA	18.00	\$390.00	\$7,020.00	18.00	\$7,020.00	\$0.00
62	WATER MAIN ENCASEMENT	LF	385.00	\$35.00	\$13,475.00	385.00	\$13,475.00	\$0.00
63	WATER MAIN INSULATION	SF	40.00	\$2.00	\$80.00	40.00	\$80.00	. \$0.00
64	WATER SERVICE RECONNECTION	EA	65.00	\$188.00	\$12,220.00	65.00	\$12,220.00	\$0.00
65	30" STEEL PIPE CASING & BORE	LF	120.00	\$520.00	\$62,400.00	120.00	\$62,400.00	\$0.00
66	CATHODIC PROTECTION	LS	1.00	\$65,800.00	\$65,800.00	1.00	\$65,800.00	\$0.00
67	CATHODIC PROTECTION TEST STATION	EA	9.00	\$270.00	\$2,430.00	9.00	\$2,430.00	\$0.00
68	CONTROLLED LOW STRENGTH BACKFILL MATERIAL	CY	18.50	\$120.00	\$2,220.00	18.50	\$2,220.00	\$0.00
69	AASHTO T-180 SOIL TEST	EA	8.00	\$150.00	\$1,200.00	8.00	\$1,200.00	\$0.00
70	IMPORTED BACKFILL MATERIAL	CY	0.00	\$13.00	\$0.00	0.00	\$0.00	\$0.00
71	TYPE I GRANULAR BACKFILL	T	0.00	\$16.00	\$0.00	0.00	\$0.00	\$0.00
72	TYPE II FOUNDATION MATERIAL	Т	0.00	\$18.00	\$0.00	0.00	\$0.00	\$0.00
73	REMOVE ASPHALT CONCRETE PAVEMENT	SY	8,985.00	\$2.00	\$17,970.00	8,985.00	\$17,970.00	\$0.00
74	REMOVE CONCRETE APPROACH PAVEMENT	SY	50.00	\$2.00	\$100.00	50.00	\$100.00	\$0.00
75	REMOVE CONCRETE CURB AND GUTTER	LF	517.00	\$2.00	\$1,034.00	517.00	\$1,034.00	\$0.00
76	REMOVE CONCRETE FILLET & PAN	SY	250.00	\$2.00	\$500.00	250.00	\$500.00	\$0.00
77	REMOVE CONCRETE PAVEMENT	SY	395.00	\$3.00	\$1,185.00	395.00	\$1,185.00	\$0.00
78	REMOVE CONCRETE SIDEWALK	SF	937.00	\$2.00	\$1,874.00	937.00	\$1,874.00	\$0.00
79	REMOVE AND RESET SIGN	EA	7.00	\$60.00	\$420.00	7.00		\$0.00
80	TEMPORARY GRAVEL SURFACING	Т	236.10	\$13.00	\$3,069.30	236.10		\$0.00
81	AGGREGATE BASE COURSE	Т	3,178.00	\$17.00		3,178.00		\$0.00
82	TEMPORARY COLD MIX ASPHALT CONCRETE	Т	11.36	\$115.00	\$1,306.40	11.36		\$0.00

Holiday Inn, North Street and Farlow Avenue Water Main Reconstruction Project No. W07-1631 / CIP No. 50465 CCO #1

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	ASPHALT CONCRETE, CLASS G, TYPE 1	T	2,536.52	\$90.00	\$228,286.80	2,536.52	\$228,286.80	\$0.00
84	CONCRETE APPROACH PAVEMENT, 6"	SY	24.00	\$48.00	\$1,152.00	24.00	\$1,152.00	\$0.00
85	CONCRETE DRIVEWAY PAVEMENT, 6"	SY	31.00	\$48.00	\$1,488.00	31.00	\$1,488.00	\$0.00
86	CONCRETE CURB & GUTTER, TYPE B66	LF	517.00	\$14.00	\$7,238.00	517.00	\$7,238.00	\$0.00
87	CONCRETE FILLET & PAN (REINFORCED), 6"	SY	250.00	\$49.00	\$12,250.00	250.00	\$12,250.00	\$0.00
88	CONCRETE SIDEWALK, 4"	SF	937.00	\$5.00	\$4,685.00	937.00	\$4,685.00	\$0.00
89	FULL DEPTH PCC PAVEMENT REPAIR	SY	301.00	\$73.00	\$21,973.00	301.00	\$21,973.00	\$0.00
90	DETECTABLE WARNING SURFACE	SF	70.00	\$36.00	\$2,520.00	70.00	\$2,520.00	\$0.00
91	EROSION & WATER POLLUTION CONTROL PLAN	EA	1.00	\$19,000.00	\$19,000.00	1.00	\$19,000.00	\$0.00
92	TEMPORARY EROSION CONTROL	LS	1.00	\$3,344.00	\$3,344.00	1.00	\$3,344.00	\$0.00
93	HAULING AND PLACING COMPOST	CY	14.00	\$7.00	\$98.00	14.00	\$98.00	\$0.00
94	SEEDING, FERTILIZING, MULCHING	SY	4,222.00	\$2.00	\$8,444.00	4,222.00	\$8,444.00	\$0.00
95	SODDING	SY	1,041.80	\$5.00	\$5,209.00	1,041.80	\$5,209.00	\$0.00
96	CONTRACTOR FURNISHED STAKING	LS	1.00	\$16,000.00	\$16,000.00	1.00	\$16,000.00	\$0.00
97	TRAFFIC CONTROL PLAN	LS	1.00	\$3,000.00	\$3,000.00	1.00	\$3,000.00	\$0.00
98	TRAFFIC CONTROL	LS	1.00	\$31,000.00	\$31,000.00	1.00	\$31,000.00	\$0.00
99	INCIDENTAL WORK	LS	1.00	\$60,000.00	\$60,000.00	1.00	\$60,000.00	\$0.00
100	ABANDON EXISTING WATER TRANSMISSION MAIN	LS	1.00	\$33,000.00	\$33,000.00	1.00	\$33,000.00	\$0.00
118	1" COPPER SERVICE	LF	77.00	\$22.00	\$1,694.00	77.00	\$1,694.00	\$0.00
119	6" PVC WATER MAIN	LF	15.00	\$21.00	\$315.00	15.00	\$315.00	\$0.00
120	16" PVC WATER MAIN	LF	388.00	\$67.00	\$25,996.00	388.00	\$25,996.00	\$0.00
121	1" TAPPING SADDLE	EA	3.00	\$226.00	\$678.00	3.00	\$678.00	\$0.00
122	8" X 6" REDUCER	EA	0.00	\$323.00	\$0.00	0.00	\$0.00	\$0.00
123	16" X 16" X 6" TEE	EA	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
124	16" X 16" X 8" TEE	EA	1.00	\$1,625.00	\$1,625.00	1.00	\$1,625.00	\$0.00
125	16" MJ PLUG	EA	0.00	\$520.00	\$0.00	0.00	\$0.00	\$0.00
126	16" GATE VALVE & BOX	EA	2.00	\$6,800.00	\$13,600.00	2.00	\$13,600.00	\$0.00
127	FIRE HYDRANT W/AUX VALVE, BOX & LEAD	EA	1.00	\$3,450.00	\$3,450.00	1.00	\$3,450.00	\$0.00
128	CONNECT TO EXISTING WATER MAIN	EA	1.00	\$343.00	\$343.00	1.00	\$343.00	\$0.00
129	WATER SERVICE RECONNECTION	EA	3.00	\$188.00	\$564.00	3.00	\$564.00	\$0.00
130	CATHODIC PROTECTION	LS	1.00	\$3,350.00	\$3,350.00	1.00	\$3,350.00	\$0.00
131	CATHODIC PROTECTION TEST STATION	EA	1.00	\$560.00	\$560.00	1.00	\$560.00	\$0.00
132	REMOVE ASPHALT CONCRETE PAVEMENT	SY	496.00	\$2.00	\$992.00	496.00	\$992.00	\$0.00
133	REMOVE CONCRETE APPROACH PAVEMENT	SY	5.00	\$2.00	\$10.00	5.00	\$10.00	\$0.00
134	REMOVE CONCRETE CURB AND GUTTER	LF	82.00	\$2.00	\$164.00	82.00	\$164.00	\$0.00
135	REMOVE CONCRETE SIDEWALK	SF	313.00	\$2.00	\$626.00	313.00	\$626.00	\$0.00
136	AGGREGATE BASE COURSE	Т	177.00	\$17.00		177.00	\$3,009.00	\$0.00
137	ASPHALT CONCRETE, CLASS G, TYPE 1	Т	137.00	\$90.00	\$12,330.00	137.00	\$12,330.00	\$0.00
138	CONCRETE APPROACH PAVEMENT, 6"	SY	5.00	\$48.00	\$240.00	5.00	\$240.00	\$0.00
139	CONCRETE CURB & GUTTER, TYPE B66	LF	82.00	\$14.00		82.00	\$1,148.00	\$0.00
140	CONCRETE SIDEWALK, 4"	SF	313.00	\$5.00	\$1,565.00	313.00	\$1,565.00	\$0.00
141	DETECTABLE WARNING SURFACE	SF	8.00	\$35.00	\$280.00	8.00	\$280.00	\$0.00
142	TEMPORARY EROSION CONTROL	LS	1.00	\$2,400.00	\$2,400.00	1.00	\$2,400.00	\$0.00
143	SODDING	SY	29.00	\$5.00	\$145.00	29.00	\$145.00	\$0.00

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
144	CONTRACTOR FURNISHED STAKING	LS	1.00	\$720.00	\$720.00	1.00	\$720.00	\$0.00
145	TRAFFIC CONTROL PLAN	LS	1.00	\$360.00	\$360.00	1.00	\$360.00	\$0.00
146	TRAFFIC CONTROL	LS	1.00	\$1,200.00	\$1,200.00	1.00	\$1,200.00	\$0.00
147	1" COPPER SERVICE	LF	17.00	\$22.00	\$374.00	17.00	\$374.00	\$0.00
148	6" PVC WATER MAIN	LF	6.00	\$20.00	\$120.00	6.00	\$120.00	\$0.00
149	8" PVC WATER MAIN	LF	49.00	\$26.00	\$1,274.00	49.00	\$1,274.00	\$0.00
150	16" PVC WATER MAIN	LF	657.00	\$67.00	\$44,019.00	657.00	\$44,019.00	\$0.00
151	1" TAPPING SADDLE	EA	1.00	\$226.00	\$226.00	1.00	\$226.00	\$0.00
152	8" X 6" REDUCER	EA	0.00	\$323.00	\$0.00	0.00	\$0.00	\$0.00
153	8" X 8" X 6" TEE	EA	1.00	\$455.00	\$455.00	1.00	\$455.00	\$0.00
154	16" X 16" X 6" TEE	EA	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
155	16" X 16" X 8" TEE	EA	2.00	\$1,625.00	\$3,250.00	2.00	\$3,250.00	\$0.00
156	6" 45 DEGREE BEND	EA	2.00	\$300.00	\$600.00	2.00	\$600.00	\$0.00
157	16" 11.25 DEGREE BEND	EA	1.00	\$1,226.00	\$1,226.00	1.00	\$1,226.00	\$0.00
158	8" MJ PLUG	EA	1.00	\$200.00	\$200.00	1.00	\$200.00	\$0.00
159	16" MJ PLUG	EA	0.00	\$600.00	\$0.00	0.00	\$0.00	\$0.00
160	6" GATE VALVE W/ BOX	EA	1.00	\$1, 550.00	\$1,550.00	1.00	\$1,550.00	\$0.00
161	8" GATE VALVE W/ BOX	EA	2.00	\$1,865.00	\$3,730.00	2.00	\$3,730.00	\$0.00
162	16" GATE VALVE & BOX	EA	2.00	\$7,000.00	\$14,000.00	2.00	\$14,000.00	\$0.00
163	FIRE HYDRANT W/AUX VALVE, BOX & LEAD	EA	1.00	\$3,500.00	\$3,500.00	1.00	\$3,500.00	\$0.00
164	CONNECT TO EXISTING WATER MAIN	EA	2.00	\$370.00	\$740.00	2.00	\$740.00	\$0.00
165	WATER MAIN ENCASEMENT	LF	21.00	\$35.00	\$735.00	21.00	\$735.00	\$0.00
166	WATER SERVICE RECONNECTION	EA	1.00	\$188.00	\$188.00	1.00	\$188.00	\$0.00
167	CATHODIC PROTECTION	LS	1.00	\$5,250.00	\$5,250.00	1.00	\$5,250.00	\$0.00
168	REMOVE ASPHALT CONCRETE PAVEMENT	SY	919.00	\$2.00	\$1,838.00	919.00	\$1,838.00	\$0.00
169	REMOVE CONCRETE CURB AND GUTTER	LF	31.00	\$2.00	\$62.00	31.00	\$62.00	\$0.00
170	REMOVE CONCRETE FILLET & PAN	SY	9.00	\$2.00	\$18.00	9.00	\$18.00	\$0.00
171	REMOVE CONCRETE SIDEWALK	SF	80.00	\$2.00	\$160.00	80.00	\$160.00	\$0.00
172	AGGREGATE BASE COURSE	Т	313.00	\$17.00	\$5,321.00	313.00	\$5,321.00	\$0.00
173	ASPHALT CONCRETE, CLASS G, TYPE 1	Т	263.00	\$90.00	\$23,670.00	263.00	\$23,670.00	\$0.00
174	CONCRETE CURB & GUTTER, TYPE B66	LF	31.00	\$14.00	\$434.00	31.00	\$434.00	\$0.00
175	CONCRETE FILLET & PAN (REINFORCED), 6"	SY	9.00	\$50.00	\$450.00	9.00	\$450.00	\$0.00
176	CONCRETE SIDEWALK, 4"	SF	80.00	\$5.00	\$400.00	80.00	\$400.00	\$0.00
177	TEMPORARY EROSION CONTROL	LS	1.00	\$2,100.00	\$2,100.00	1.00	\$2,100.00	\$0.00
178	SODDING	SY	111.00	\$5.00	\$555.00	111.00	\$555.00	\$0.00
179	CONTRACTOR FURNISHED STAKING	LS	1.00	\$1,140.00	\$1,140.00	1.00	\$1,140.00	\$0.00
180	TRAFFIC CONTROL PLAN	LS	1.00	\$360.00	\$360.00	1.00	\$360.00	\$0.00
181	TRAFFIC CONTROL	LS	1.00	\$1,200.00	\$1,200.00	1.00	\$1,200.00	\$0.00
182	6" PVC WATER MAIN	LF	14.00	\$21.00	\$294.00	14.00	\$294.00	\$0.00
183	16" PVC WATER MAIN	LF	538.00	\$67.00	\$36,046.00	538.00	\$36,046.00	\$0.00
184	16" X 16" X 6" TEE	EA	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
185	18" X 16" TAPPING SLEEVE W/VALVE AND BOX	EA	1.00	\$12,500.00	\$12,500.00	1.00	\$12,500.00	\$0.00
186	16" 11.25 DEGREE BEND	EA	2.00	\$1,150.00	\$2,300.00	2.00	\$2,300.00	\$0.00
187	16" 22.5 DEGREE BEND et and Earlow Avenue Water Main Reconstruction	EA	0.00	\$1,150.00	\$0.00	0.00	\$0.00	\$0.00

Holiday Inn, North Street and Farlow Avenue Water Main Reconstruction Project No. W07-1631 / CIP No. 50465 CCO #1

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
188	16" 45 DEGREE BEND	EA	2.00	\$1,145.00	\$2,290.00	2.00	\$2,290.00	\$0.00
189	FIRE HYDRANT W/AUX VALVE, BOX & LEAD	EA	1.00	\$3,540.00	\$3,540.00	1.00	\$3,540.00	\$0.00
190	30" STEEL PIPE CASING & BORE	LF	50.00	\$636.00	\$31,800.00	50.00	\$31,800.00	\$0.00
191	CATHODIC PROTECTION	LS	1.00	\$5,000.00	\$5,000.00	1.00	\$5,000.00	\$0.00
192	CATHODIC PROTECTION TEST STATION	EA	1.00	\$230.00	\$230.00	1.00	\$230.00	\$0.00
193	REMOVE ASPHALT CONCRETE PAVEMENT	SY	2,038.00	\$2.00	\$4,076.00	2,038.00	\$4,076.00	\$0.00
194	REMOVE CONCRETE CURB AND GUTTER	LF	8.00	\$2.00	\$16.00	8.00	\$16.00	\$0.00
195	REMOVE CONCRETE FILLET & PAN	SY	16.00	\$2.00	\$32.00	16.00	\$32.00	\$0.00
196	REMOVE CONCRETE SIDEWALK	SF	40.00	\$2.00	\$80.00	40.00	\$80.00	\$0.00
197	AGGREGATE BASE COURSE	Т	564.40	\$17.00	\$9,594.80	564.40	\$9,594.80	\$0.00
198	ASPHALT CONCRETE, CLASS G, TYPE 1	Т	354.75	\$90.00	\$31,927.50	354.75	\$31,927.50	\$0.00
199	CONCRETE CURB & GUTTER, TYPE B66	LF	8.00	\$14.00	\$112.00	8.00	\$112.00	\$0.00
200	CONCRETE FILLET & PAN (REINFORCED), 6"	SY	16.00	\$50.00	\$800.00	16.00	\$800.00	\$0.00
201	CONCRETE SIDEWALK, 4"	SF	40.00	\$5.00	\$200.00	40.00	\$200.00	\$0.00
202	DETECTABLE WARNING SURFACE	SF	8.00	\$35.00	\$280.00	8.00	\$280.00	\$0.00
203	TEMPORARY EROSION CONTROL	LS	1.00	\$2,200.00	\$2,200.00	1.00	\$2,200.00	\$0.00
204	SODDING	SY	8.00	\$5.00	\$40.00	8.00	\$40.00	\$0.00
205	CONTRACTOR FURNISHED STAKING	LS	1.00	\$840.00	\$840.00	1.00	\$840.00	\$0.00
206	TRAFFIC CONTROL PLAN	LS	1.00	\$360.00	\$360.00	1.00	\$360.00	\$0.00
207	TRAFFIC CONTROL	LS	1.00	\$1,200.00	\$1,200.00	1.00	\$1,200.00	\$0.00
208	REMOVE GATE VALVE AND REPAIR MAIN	EA	1.00	\$529.80	\$529.80	1.00	\$529.80	\$0.00
209	LIQUIDATED DAMAGES (PHASE I) *JUNE 20-JULY 31	DAY	0.00	(\$800.00)	\$0.00	31.00	(\$24,800.00)	(\$24,800.00)
210	LIQUIDATED DAMAGES (PHASE II) *AUG 7-AUG 8	DAY	0.00	(\$650.00)	\$0.00	2.00	(\$1,300.00)	(\$1,300.00)
L	TOTAL			***************************************	\$2,238,568.60	***************************************	\$2,212,468.60	(\$26,100.00)

C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRACT PRICE:	\$2,238,568.60
	CCO #1	(\$24,624.40)	NET INCREASE/(DECREASE):	(\$26,100.00)
	CCO #2	(\$26,100.00)	ADJUSTED CONTRACT PRICE:	\$2,212,468.60
			CHANGE TO DATE:	(\$50,724.40)

FINANCE: JAMES PRESTON	CONSTRUCTION, INC. POBOX 9337 RAPID CITY SD 57709 CITY ENGINEER ENGI	13.16.08 DATE 12.16.08 DATE 12/16/08 DATE 12-17-00 DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	FINANCE: JAMES PRESTON CONTRACT TIME CHANCE 1/1 0 NEW CONTRACT TIME: DOVE	DATE

City Staff recommends approval of this Change Order #1 to R.C.S. Construction, Inc for a decrease of \$26,100.00 based on unit pricing with the following appropriation:

Initial Funding	\$0.00	\$2,263,193.00	\$0.00	\$0.00	\$2,263,193.00
Fund Type	Streets	Water	Sanitary Sewer	Storm Sewer	
Department	8910	0933	833	8911	
Line Item	4370	4381	4380	4371	
Fund	0505	0602	604	505	
CCO #1	\$0.00	(\$24,624.40)	\$0.00	\$0.00	(\$24,624.40)
CCO #2	\$0.00	(\$26,100.00)	\$0.00	\$0.00	(\$26,100.00)
Adjusted Funding	\$0.00	\$2,212,468.60	\$0.00	\$0.00	\$2,212,468.60
	Ļ				

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2 Holiday Inn, North Street and Farlow Avenue Water Main Reconstruction

W07-1631 / CIP NO. 50465

December 15, 2008

ORIGINAL CONTRACT AMOUNT: \$2,263,193.00

CONTRACTOR: R.C.S. Construction

LINE	DESCRIPTION		REASON FOR CHANGE	
209	LIQUIDATED DAMAGES (PHASE I) *JUNE 20-JULY 31	Final quantity.		
210	LIQUIDATED DAMAGES (PHASE II) *AUG 7-AUG 8	Final quantity.		
PREPAR	RED BY:	7	DATE:	12/16/08
CONCU	RRANCE BY:		DATE:	; <u> </u>